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Step 13 - Six Fact Challenge! Step 14 Step 15
9x7 = 9% 6= Ix11-= /x 11+ 12x 3= 12x 12 =
7x7 7% 6 11x9- 11x6- ' 10x12= |4x12-
et 12x9- | Bx12-
4 x11- 11x 8-+
12x b= 12x6 =
bx 11+ 10x 11+ A
/x 12 = 1x12 =
11x 11+ 12x 11+ #
‘ 11x 12+ 2x 12+
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Step 13 - Six Fact Challenge! Step 14 Step 15
7x9:+ 9%x9-= 11x 11+ 12x 11+ 12x 2+ 7x12 =
6x 6 Ix 6 3x 11+ 11x6- ' 12x10= | 8x12-
6% 7 7x7 Ax 1= ox1l- 1x12- | 11x12-
3\ 11x9 - 10 x 11 =
12x b= 3x 12 =
11x7 = 11x 2= ﬁ
9x 12 = 12 x 4 =
5y 11- 1x 11 - |
‘ 12x 12 = 6x 12 -
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Step 13 - Six Fact Challenge! Step Step
9x 9= 9x 7 = Ix11-= 6x11= 12x 12 = 5x12 -
9x 6 7% 6 2x 11+ 1Ix 7+ ' 12x7= | 9x12-
6% 6 7x7 I x 117 Hxcdd Ax12- | 11x12-
3\ 11x 4 - 10 x 11 =
12x10= | 12x1-
8y 11 - 12 x 11 - ﬂ
12x 3 = 8x 12 -
11x 3 - 11x 5 - |
‘ 12x 6 = 2x12 =
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Step 13 - Six Fact Challenge! Step 14 Step
6x9 - 6x6 - 11x4 - 6x11-= 12x 3= 11x 12+
9x 7 6x7 W dl= | 2x1l- ' 12x10- | 5x12-
Hxo- [t 12x8- | 12x9-
10x 11+ 11x 8-+
4 x12 = 12x 12 =
12x 11+ 3x 11+ ﬂ
/x 12 = 12x 6 =
11x 7+ 11x5b-= #
‘ 2x12 = 1x12 =
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Step 13 - Six Fact Challenge! Step 14 Step 15
9x 6 = 7X7 11x2-= 11x 11+ 12x 8= 1x 12+
9x 7 7% 6 4x 11+ 1Ix 7= ' 9x 12 - 10x 12 =
6% 6 9Ix 9 Ox 1= 1 oxl- 12x3- | 5x12-
3\ 12x11= | 11x10 -
11x12- | 12x12-
11xb-= 11x1-= A
4 x 12 = 12x 2=
6x 11 - 3y 11 - |
‘ 12x7 = 6x 12 -
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Step 13 - Six Fact Challenge! Step 14 Step
6x9 - /X /= 11x5= 9x11- Bx 12 = 12x 12 =
9% 9 6x 7 11x6- Ix 11+ ' 12x6= | 12x4-
11x11= | 11x8- o 12 |12y2-
4 x 11+ 12x 11 =
12x 7/ = 5x12-=
11x7-= 2x 11+ A
11x 12 = 12x 3 =
10x 11+ 11x3-= #
‘ 1x 12+ 10x 12 =
By,
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Step 13 - Six Fact Challenge! Step 14 Step 15
6x7 - 7x7 = 11x12 = 6x11-= 12x 5= 8x 12 =
9x 9 6x 6 ox 11+ 10x 11+ ' 7x12- | 10x12-
ex = et 1x12- | 12x3-
11x9-+ 1x7-=
12x 11+ 4 x12 =
4 x 11+ 11x 11 = A
12x 2= 12x 12 =
11x1-= 11x3-= #
‘ 9x 12 = 12x 6 =
By
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" Step 13- § | 1 15 D)
Step 13 - Six Fact Challenge! Step 14 Step
9x 6= 9x9-= Ix11-= 11x 11+ 12x12 = 1x 12+
6x6-  |7x9- 2x 1= )8l ' 12x8= | 10x12-
11x4 - 11x9- 9y 17 - 5y 17 -
10x 11+ 3x 11+
12x6 = 12 x4 =
12x 11 = 5x 11+ A
3x 12 = 11x 12 =
11x6 = 11x7-= #
‘ 2x 12+ 12x7 =
gy
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7x7 = 6x6 = 2x 11+ 6x11-= 1x 12 6x 12 =
9x 9 Iy 6 1Tx 8= Ix 11+ 10 x 12 9y 12 -
4y 11- 11 x 11 = . 1
12x 11 = 11x3-=
12%5 - 12 % 12 =
11x7 - 5y 11+
4 x 12 = 12x 2=
10x11= |11x9-
8x 12 = /x 12 =
By
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